# Addition Uber offene Zahlenzeilen Name:
L 6se jede Aufgabe. Antworten

1) 88.484 +7.634 =
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7) 31.100 + 20.720 =
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8) 75.968 + 4.796 =
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Addition Uber offene Zahlenzeilen

Name:

L dsungsschltissel

L 0se jede Aufgabe.
1) 88.484 + 7.634 =
88.484 95.484 96.084 96.114 96.118

oo o o

+7.000 +600 +30 +4
2) 53.764 + 22.264 =

53.764 73.764 75.764 75964 76.024  76.028
+20.000 +2.000 +200 +60 +4

3) 47.994 + 44.923 =

47994 87994 91994 92894 92914 92917
“—eo—— 9o —@ @ o6 o0 >
+40.000 +4.000  +900 +20 +3

4) 16.371+ 15.703 =

16.371 26.371 31.371 32.071 32.074

+10.000
5) 57.453+ 15.292 =

+5.000 +700 +3

57453 67453 72453 72653 72743 72.745
+10.000 +5.000 +200 +90 +2

6) 64.315+23.714 =

64315 84315 87315 88.015 88.025 88.029
——e— @6 @ o o 0 )
+20.000 +3.000  +7/00 +10 +4

7) 31.100 + 20.720 =

31.100 51.100 51.800 51.820

+20.000
8) 75.968 + 4.796 =

+700 +20

75.968 79.968 80.668 80.758 80.764
——e— e @ o 0

+4.000 +700 +90 +6

Antworten

1 96.118

2 76.028

3. 92917

4, 32.074

5. (2.745

6. 88.029

7. 51.820

8. 80.764
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